JEPSON FPouver

06/2024

Technische Zeichnung, Technical drawing,

Dessin technique

Page 1/1

Electric Beveler 30/45°

(Optional)




Beveler 30°/40° | 495000N

JEPSO

POWER’

GERMANY

Leading Through Innovation

ITEM __PARTNO Q'TY__PART NAME Price in € excl. VAT
1) MAEBO1 4 SCREW M5 x 25 0,60 €
2.) MAEBQ?2 1 TAIL COVER 11,80 €
3.) MAEBO3 2 SCREW M4 x 10 0,60 €
4.) MAEB04 4 SCREW M4 x 12 0,60 €
5.) MAEBO5 2 SPRING 0,60 €
6.) MAEBO6 2 CARBON BRUSH HOLDER SET (2 PIECES) 7x11 9,00€
7)) MAEBO7 2 CARBON BRUSH SET (" PIECES) 7x11 10,20 €
8.) MAEBO8 2 HEX. NUT M4 x 8 0,60 €
9.) MAEB09 1 MOTOR HOUSING 24,20 €
10.) MAEB10 1 STATOR SM-125 220v 68,50 €
11.) MAEB11 2 SCREW W/WASHER M5 x 60 0,60 €
12) MAEBI2 1 FAN BAFFLE 2,00 €
13.) MAEB13 1 BALL BEARING 608-2RU NMB 8,50 €
14.) MAEB14 1 ARMATURE 7T 220V 112,30 €
15)) MAEB1227 1 BALL BEARING 6001-LLU TPI 19,70 €
16.) MAEB16 2 SCREW M5 x 35 0,60 €
17.) MAEB17 4 SCREW M5 x 20 0,60 €
18.) MAEB18 1 GEAR PLATE 26,40 €
19.) MAEB19 4 SCREW M5 x 40 0,60 €
20.) MAEB59 1 EXTERNAL CIRCLIP S-12 0,60 €
21)  MAEB22 1 GEAR 30T 22,50 €
22) DPO35 1 EXTERNAL CIRCLIP S-15 0,60 €
23)  JEP32053 1 BALL BEARING 6202-2NSE 17,50 €
24)  MAEB23 1 INTERNAL CIRCLIP R-35 0,60 €
25) MAEB24 1 EXTERNAL CIRCLIP S-17 0,60 €
26.) MAEB25 1 BALL BEARING 6003-2NSE 24,20 €
27)  MAEB27N 1 GEAR CASE 87,10 €
28.)  MATP046 1 PARALLEL KEY 4x4x10 1,20 €
29.)  MAEB29N 1 SPINDLE 33,70 €
30.) MAEB30ONA 1 TOOL HOLDER Set 45 ° 144,40 €
31) MAEB31 3 SCREW M4 x 8 4,80 €
32.)  495001N 3 INDEXABLE CARBIDE INSERT SET10 102,80 €
33)  MAEB33N 1 IMPELLER 45°C 15,80 €
34)  MAEB34N 1 BALL BEARING 608 ZZNMB 7,30 €
35)  MAEB35N 1 INTERNAL CIRCLIP R-22 0,60 €
36.) MAEB36N 1 NYLOCK NUT M6 0,60 €
37.) MAEB34 3 SET SCREW M5 x 6 0,60 €
38.)  MAEB38N 1 INNER SUPPORT BARREL 64,60 €
39.) MAEB36 1 O-RING 3050 1,70 €
40.)  MAEB37 1 DIAL RING 39,90 €
41)  MAEB38 1 SET SCREW M4 x 4 0,60 €
42)  MAEB39 2 LOCK KNOB M5 x 16 7,30 €
43)  MAEB43N 1 SUPPORT DECK BODY 84,20 €
44.)  MAEB44N 1 SUPPORT DECK PLATE 33,70 €
45)  MAEBN36 3 SCREW M4 x 10 0,60 €
46.)  MAEB43 1 FRONT HANDLE 17,50 €
47)  MAEB4 1 SIDE HANDLE 14,10 €
48.)  MAEB45 1 HANDLE COVER - RIGHT 5,70 €
49.)  MAEB46 1 HANDLE COVER - LEFT 5,70 €
50.) MAEB47 4 SCREW M4 x 38 0,60 €
51) MAEB48 4 SCREW M4 x 20 0,60 €
52.)  MAEB62 1 SCREW M4 x 16 0,60 €
53)  MAEB53N 2 SCREW W/WASHER M4 x 30 0,60 €
54.)  MAEB49 1 SPEED CONTROL UNIT & EMC 220V 117,90 €
55)  MEAB55N 1 THUMB WHEEL 290¢€
56.) MAEB50 1 SWITCH 220V 10,20 €
57.) MAEB61 2 SCREW M4 x 14 0,60 €
58.) MAEB51 1 CABLE CLIP 0,60 €
59.)  MAEB58 2 WIRE LEAD W/ TERMINALS 18AWG+50CM +A250 2,30 €
60.) MAEB6ON WIRE SHEATH M6 x 20CM 3,40 €
61.) MAEB52 1 CORD ARMOR 2,30 €
62.)  MAEBS3 1 POWER SUPPLY CABLE 1.0x2C x 3M VDE 31,50 €
63.)  MAEB55 1 HOOK SPANNER WRENCH 21,40 €
64.)  MAEB56 1 SPINDLE LOCK BAR 290 €

0,00 €




Beveler 30°/40° | 495000N JEPSON r2usr

Leading Through Innovation

Al.) MAEBA1 1 TOOL HOLDER SET-30°(OPTIONAL) 30°C 144,40 €






